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1 Entropy change for monocatomic ideal gas

A moncatomic ideal gas is heated at constant volume from temperature T; to 7. Determine
an expression for the change in entropy of the gas.
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Entropy and  heat Flow
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2 System plus bath: entropy changes

A heat bath/reservoir is a system, usually an environment, whose temperature stays fixed
while it exchanges heat with another typically much smaller system. Consider a 2.00kg
block of aluminum which is initially at a temperature of 100° C. This is placed in contact
with air (the bath) whose temperature is 20.0° C. The specific heat capacity of aluminum is
897 J/K- kg. The aluminum comes to equilibrium with the air.

a) Determine the heat lost by the aluminum.

b) Determine the change in entropy of the aluminum, assuming that the heat capacity is
constant over this range.

c) Determine the change in entropy of the aluminum plus the air. Does this satisfy the
second law of thermodynamics?
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